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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any five questions, All questions carry equal
marks.
3. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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(a) How existence of the bureaucracy can lead to
excessive growth of the public sector? Explain

with the help of economic model. (9)

(b) Define Externality. Show the inefficiency
associated with positive externality with the help

of suitable diagram. (6)

(&) Aewamdt w1 sfae w89 9 siE Ife
T HRU ST geRer 87 sl e Y wew ¥ wwme

(@) sreran =t afnfe AR e sem 3 Ol
SIEFE W IUGET N H WEEn ¥ @wiew)

(a) Show that optimal condition for the provision of
public goods differ from private good in partial
equilibrium analysis. Elaborate using the suitable

diagrams. (7)

6.
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(a) In case of two-goods (Labor and Consumption
good x) economy with a single consumer and single
producer, show how the optimal commodity tax is
determined. (8)

(b) What makes sound tax system? What ‘ails
the Indian tax system elaborated by M. Govinda
Rao? (7)

(s7) v Iosliern ok v S @ W A-meg (W
R IYRT TEY x) srfmaeen @ wwd ¥, R e
TREH Y X He PuiRa R wmr

(@) & & FRE IS X WO TS 27w W g
U e wrdw w1 owore o i w27

(a) Briefly discuss the silent features of Goods and
Service tax (GST) in India. What are the

anomalies associated with GST? (7)

(b) What factors govern the auditing and punishment
decision for tax evasion by individuals in the
economy? Discuss the role of government in this

context, (8)
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(@) e e awgal & Fe & gl @ i
F, TG F WEE ¥ IeaeT qaist & fsor )
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(a) What is the rationale for intergovernmental
transfers in India? Elaborate the key
recommendations of fifteenth finance commission
for horizontal and vertical devolution between
centre and state; and among the states (8}

(b) Suppose government impose tax on interest on
saving and after tax saving remain unchanged,
would this imply tax is non- distortionary? Explain.

(7

(37) ¥RE ¥ SHARECHN el w FAT HRd 87 BE IR
T N U & §w & d seAnr sk afew
TR & Fg e R s @ vE RemRa w5
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T T @ 9 Rafi @Al B, W W e W
g BN fF w IW-Rga 27 awered
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(b) If mobility is costless in Iocal'community context
individuals would reveal their preferences, by
moving to the locality that best reflected their
tastes and offered the preferred tax benefit mix.

Critically examine this statement. (8)

(37) =gy & il o e ¥ adwive st @
wEaE & fon g o Aol s e A 2
UGS @ N ITAN FwE T Ao
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B, W =lEF o W R IG5 A T By T
FA, T IR WE - o B @ we e wE
¥ VET T B G HUT T GEATE qOeT
I

(a) “If the market is allowed to function freely with
complete information and zero transaction cost,
the allocation of resources will be efficient and
invariant with respect to legal rules of entitlement.”

Do you agree or not? Explain. (7)

(b) Does it matter whether the tax is levied on
consumers or on producers; and levied specific
tax or ad-valorem tax? Explain. (8)
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4118 4

(57) “afr TR A TR SEER K T AR wE ®
T T W Y EE wE N FTAR T A w
3 gEy I A Al SEed wEU SR SRSHAA
DM T AT FEAG & q FAEN T TR iR

(w) = 7w e § R R S W Fm W
o SEEE W R fafiee oW wErgER w7
BLEIES]

4. (a) Graduate student A smokes, but his office mate
B hates smoking. A and B have the following
utility functions: UA = 100 + 10z - 0.1z% and
UB = 100 — 10z, where z is the number of cigarettes
smoked by A (and U* includes the cost of
cigarettes). Determine :

(i) The number of cigarettes smoked by A
when the external effect on B is ignored.

(ii) The socially optimal level of cigarettes that
should be smoked by A.

(i) The optimal Pigouvian tax needed to

decentralize the social optimum.

(iv) The outcome with Coasian bargaining when
the property right is assigned to the smoker.
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(v) The outcome with Coasian bargaining when
the property right is assigned to the
nonsmoker. (8)

(b) Examine the approach to the classification on
impure public goods focuses on the mix of services
that stem from the provision of the good. (7)

() e ST T GET Rl B, A Su wed ad
§ T ARG T B QSR & A R
IuRREr wae §: UA =100 + 10z — 0.122 3k UB =
100 - 10z, W& z, A B fAIT & TS R W@
T 2 (3R UA X R & R wmfie 7)) FriRa
IR -

(i) & B W W W N AsRaErs faRar e
TR A B W & s el @ e

(ii) e =0 geihTE &9 ¥ gwaw o e A B
e fRen W =fegl

(i) wwnfE Teaw F Fedga S & oy g
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